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HISTORY
( Major )
Paper : 5.3

( History of Europe 1789-1870 )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer all questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
sentence : 1x7=7

ol 2] Teq BT *1%7 A1 e A

(a) Name the last ruler of the Bourbon
dynasty of France whose reign saw the
outbreak of the Revolution of 1789.
FHAY @A IVME oG IwE T forn e
NPT Sabs 599 Reid S 2R |

(b)) Who was Marie Antoinette?

A RS @ =fRE 2

() Who said, “Men are born free and remain
free and equal in rights”?

e FR 02 T, FR 02 AF HF AICEACT
SRS A 17 FURE (P (PR 2
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(d) Why is the Battle of Waterloo called a

(e)

(g)

2. Answer the following in brief :

(2)

decisive battle?

AR JaF 9F Praeedl 37 I Fn o 21 2
What were the three principles that
governed the Settlement of Vienna?

@ oo Afer s ofe R R s
IS HoRIfGRE 2

Who insulted the ‘Holy Alliance’ as ‘high
sounding nothing’?

“IRg pfE’s @I SR AT’ T Serzr
Fff%E 2

Who was the founder of Young Italy
Party’?

2R oAl WA’ AfSHRE (I HifeE 2

o frapza kg Teg fr

(@)

(b)

(c)
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What were the two important problems
before the Legislative Assembly of 1791?
545 TS (AR YRR FTH o] TS
et o1 6 f6 2

Mention two demerits of the Tré’a_ty of
Versailles.

ST612 B4 151 WGTaR Srad =4 |

Mention at least two causes of the failure
of the Frankfurt Parliament.

@FFEB ARIETD ¢ @ERR IS JBl IR
for<r |

( Continued )

2x4=8

(3)

(d) Name four countries of Europe whf:re
repercussions of the French Revolution

of 1848 was seen.

@[ BifRem o A ferdl, 'S Sv8y S

T Reaa o/s@ 2/ ¢t Carfes |

3. Write short notes on any three of the

following :

w1 e foftr s @ vy e for -

(a)

(b)

(c)

(@)

(e)

1jj
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Congress of Verona (1822)
CSCAF AR (SrR)

July Revolution of 1830
Svrvo 5 TEnE Re

Crimean War

&t 3=

Results of the Battle of Sedan
TR T&a FeArFe]

Mazzini’s contribution to
Unification

IO GFAPINE A Tksfg qqefd

Napoleon III
vor e

5x3=15

Italian
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4. Answer any three of the following : 10x3=30
werq R cren fofabt o Teq faay

(a) Analyze the character of the French
Revolution. Do you consider it to be a
bourgeois revolution?

F4o! e oG Ao 41 | @2 R eat
JCERAPRER qR1 @R R2i 3 SR 2

(b) Can Napoleon Bonaparte be called the
Son of the Revolution? Justify your
comments.

GTeAfere @A Rema oM qfem =i 2
e wefiz Taq fran |

() What was ‘Metternich System’? Why did
it fail?

‘IR TR 1 wfeE o 3 Ry el 30 0

(d) Give an account of the Revolution of
1848 in France. What were its results?
Sv8b b IO ([ Regq «ft fRega fran
[ FeTe [ wife 2

(e) What led to the Austro-Prussian War and
what were its results?

A e oA e 3m R (ke W TR

o f wifker 2
() “Cavour was the maker of modern Italy.”
Elucidate.
Yo Wi ey WEe e 1 ek
ferr 1
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